PC2525SP
2500 psi @ 2.5 gpm

Part Number Description
Pump Information: ID25108 . ... ............. AR Pump, #SJV2.5G25 |
* 17658 ... Thermal Relief Valve Assy
16829 Adapter
Engine Information: GX160 .................. Engine, Honda, 5.5 Hp
P48 Key
16255 ... Oil, 20 oz
Frame Information: D24846 ........ ... ... Frame
D22268 .. ... .. Foot
D25111 ... Handle, bagged
D22101 . ... Tire, Pneu
FAB4 ... . . . . Pal Nut (gty 2)
Hardware Information:
Foot: D21436 . ... ... Screw (qty 2)
D21437 .. ... ... Nut, Flangehead (qty 2)
Handle to Frame:
+ 16471 Knob (qty 2)
+ D23196 .................... Saddle Bolts (qty 2)
Engine to Frame: 18297 ... ... L. Bolt,3/8-16 x 1.75” (qty 4)
16087 ........... Nut, Flangehead 5/16-18 (qty 4)
Pump to Engine: 15167 ... ... ... ... Screw, 5/16-24 x .75”(qty 4)
FO78 . ... Lockwasher, 5/16
Accessory Information: D22693 . ... ... . Hose Assy
X FO35 ... QC Socket
X D22179 ........... Hi Pressure Hose, 5/16” x 25ft
X FO39 ... ... QC Plug
D21931 ... Lance
D22183 ... ... Gun, 3/8 Female
OH140 L. Chemical Hose
D25071 ... Bagged Parts
+ NCTOO1 ... Cleaning Tool
+ 16797 .. Allen Wrench
+ D25573 . ... Nozzle Kit, 3.2
Manual Information: + D25115 .. .Manual, General-English/Spanish/French
+ D25300 ......... .. Manual, Parts
+ D25114 ...... Mexican Warranty (for Sam’s Mexico)
English/Spanish
v 16560 ...... ... ... Manual, Engine
X Included in Hose Assembly
+ Included in Bagged Parts
v Included in Bagged Handle
* Included in Pump Kit
PW-MANUAL March, 2002

Tab: PC


http://pdf.msservicecompany.com/d25108.pdf

	PC2525SP

